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Expand the following expression using the addition theorem. Compose the following trigonometric functions.
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Find the distance r between the next point and the origin O.
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Expand the following expression using the addition theorem.
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Find the distance r between the next point and the origin O.
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Compose the following trigonometric functions.
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Complete the following table of trigonometric functions using the diagram.
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Find the distance r between the next point and the origin O.

Expand the following expression using the addition theorem.
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Compose the following trigonometric functions.
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Solve the following trigonometric equation.
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Solve the following trigonometric inequality.
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Find the maximum and minimum values of the following functions.
Also, find sin x and cos x at that time.
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Solve the following trigonometric equation.
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Solve the following trigonometric inequality.
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Find the maximum and minimum values of the following functions.
Also, find sin x and cos x at that time.
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Solve the following trigonometric equation.
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Solve the following trigonometric inequality.
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Find the maximum and minimum values of the following functions.

Also, find sin x and cos x at that time.
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